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QUESTION 1

Identify two statements that correctly describe OWSM policy attachments in Oracle SOA Suite 

A. Although you can attach as well as detach security policies in JDeveloper, you can only detach them in Enterprise
Manager. 

B. An application developer typically uses JDeveloper to create new security policies rather than select them from a
prebuilt list. 

C. When you use JDeveloper to associate a security policy with a web service, the policy is not really attached until
application deployment. 

D. OWSM policies can be attached and detached with WLST. 

Correct Answer: BC 

 

QUESTION 2

Oracle SOA Suite is being used to virtualize service calls to a third-party human resources provider. The planned
service payloads will require minimum transformation. Routing is simple because service calls will be mapped one-for-
one to existing third-party services. Which two components should be used to handle this service virtualization? 

A. BPEL Process 

B. Proxy Service 

C. Mediator 

D. Business Service 

Correct Answer: AD 

 

QUESTION 3

When you create an assert in a test case, you can specify a Compare By rule of xml-identicalor xmlsimilar. The rule
designates the strictness of the comparison. 

If you choose xml-similar,identify two conditions that will cause the comparison to fall. 

A. The namespaces are the same, but the namespace prefix is different. 

B. An element has the same child attributes, but they are in a different order. 

C. An element has a different name, but the same child attributes are in the same order. 

D. The namespaces are different, but the namespace prefix is the same. 

Correct Answer: D 
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QUESTION 4

Given the following Oracle File Adapter configuration:
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